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@%% é @ Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
7,037 x 1000 = 4,578 x 10 =
9,573 x 1000 = 5,8 %100 =
10,589 x 10 = 1,72 x 10 =
10, 588 x 100 = 4,616 x 100 =
1,72 % 1000 = 9,229 x 1000 =
5,367 x10= 2,612 x10=
2,946 x 1000 = 8,488 x 10 =
6,091 x 1000 = 10,051 x 100 =
10,283 x 100 = 8,847 x 10 =
2,186 x 1000 = 2,382 x 100 =
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@%@ ﬁ @ Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
7,037 x 1000 = 7037 4,578 x 10 =45.78
9,573 x 1000 = 9573 5,8 % 100 = 580
10, 589 x 10 = 105.89 1,72x10=17.2
10, 588 x 100 = 1058.8 4,616 x 100 =461.6
1,72 x 1000 = 1720 9,229 x 1000 = 9229
5,367 x 10 =53.67 2,612 x10=26.12
2,946 x 1000 = 2946 8,488 x 10 = 84.88
6,091 x 1000 = 6091 10,051 x 100 = 1005.1
10,283 x 100 = 1028.3 8,847 x 10 = 88.47
2,186 x 1000 = 2186 2,382 x 100 = 238.2
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